
MATHS

BOOKS - NCERT MATHS (HINGLISH)

APPLICATION OF INTEGRALS

Application Of Integrals

1. Find the area of the region bounded by the

curve .

Watch Video Solution

y2 = 9x  and y = 3x

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TSt5IoUCLpVL


2. Find the area of the region bounded by the

parabola  and .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = 2px x2 = 2py

 sq units
4p2

3

 sq units
5p2

3

 sq units
7p2

3

 sq units
8p2

3

https://dl.doubtnut.com/l/_TSt5IoUCLpVL
https://dl.doubtnut.com/l/_lCX2EQcAiTKD


3. Find the area of the region bounded by the

curve 

Watch Video Solution

y = x3, y = x + 6  and x = 0

4. Find the area of the region bounded by the

curve .

A. 

B. 

C. 

y2 = 4x  and x2 = 4y

 sq units
15

7

 sq units
16

7

 sq units
16

3

https://dl.doubtnut.com/l/_lCX2EQcAiTKD
https://dl.doubtnut.com/l/_dN1K0h9GCVco
https://dl.doubtnut.com/l/_KpEtrAF7xvIK


D. 

Answer: C

Watch Video Solution

16  sq units

5. Find the area of the region included

between .

Watch Video Solution

y2 = 9x  and y = x

https://dl.doubtnut.com/l/_KpEtrAF7xvIK
https://dl.doubtnut.com/l/_kD2AgqXUeG74


6. Find the area of the region enclosed by the

parabola  and the line y = x+ 2.

Watch Video Solution

x2 = y

7. Find the area of the region bounded by line

x = 2 and parabola .

Watch Video Solution

y2 = 8x

https://dl.doubtnut.com/l/_Vvwq79UFglSO
https://dl.doubtnut.com/l/_ZIIi6tt9HIFe


8. Sketch the region 

and X-axis. Find the area of the region using

integration.

Watch Video Solution

{(x, 0) : y = √4 − x2}

9. Calculate the area under the curve 

included between the lines x = 0 and x = 1.

Watch Video Solution

y = 2√x

https://dl.doubtnut.com/l/_UGJk9gh9YwM0
https://dl.doubtnut.com/l/_dp2wDWrl4nh8


10. Using integration, find the area of the

region bounded by the line  X-

axis and the line  and .

Watch Video Solution

2y = 5x + 7,

x = 2 x = 8

11. Draw a rough sketch of the curve

 in the interval [1, 5]. Find the

area under the curve and between the lines x =

1 and x = 5.

Watch Video Solution

y = √x − 1)

https://dl.doubtnut.com/l/_G13OCXq4srug
https://dl.doubtnut.com/l/_xHpZhBnP3QRA


12. Determine the area under the curve

 included between the lines x

=0 and x = a.

Watch Video Solution

y = √a2 − x2

13. Find the area if the region bounded by

.

Watch Video Solution

y = √x  and y = x

https://dl.doubtnut.com/l/_xHpZhBnP3QRA
https://dl.doubtnut.com/l/_yOCGlumREVVm
https://dl.doubtnut.com/l/_9miufRizwWH2
https://dl.doubtnut.com/l/_1WyHomVt142h


14. Find the area enclosed by the curve

 and the straight line 

.

View Text Solution

y = − x2

x + y + 2 = 0

15. Find the area bounded by the curve

 in the first quadrant and

X-axis.

Watch Video Solution

y = √x, x = 2y + 3

https://dl.doubtnut.com/l/_1WyHomVt142h
https://dl.doubtnut.com/l/_f6CPC0FLrtDG


16. Find the area of the region bounded by the

curve .

Watch Video Solution

y2 = 2x  and x2 + y2 = 4x

17. Find the area of region by the curve

.

A. 5 sq units

B.  sq units

C.  sq units

y = sinx  between x = 0  and x = 2π

4

3

https://dl.doubtnut.com/l/_sUoT2jVT8zjP
https://dl.doubtnut.com/l/_2gzXnlh7Xxby


D.  sq units

Answer: B

Watch Video Solution

7

18. Using integration, find the area of the

triangle ABC whose vertices are

 and .

Watch Video Solution

A( − 1, 1), B(0, 5) C(3, 2)

https://dl.doubtnut.com/l/_2gzXnlh7Xxby
https://dl.doubtnut.com/l/_rQ8r9SW7V1QF


19. Find the area of the region

using method of integration .

Watch Video Solution

{(x, y) : y2 ≤ 6ax and x2 + y2 ≤ 16a2}

20. Compute the area bounded by the lines

.

Watch Video Solution

x + 2y = 2, y − x = 1  and 2x + y = 7

https://dl.doubtnut.com/l/_0wSlBK6TofjS
https://dl.doubtnut.com/l/_PPHDGyMhdR3b


21. Find the area bounded by the lines

.

Watch Video Solution

y = 4x + 5, y = 5 − x  and 4y = x + 5

22. Find the area bounded by the curve

 and the X-axis from x = 0 to 

.

Watch Video Solution

y = 2 cos x

x = 2π

https://dl.doubtnut.com/l/_YQswwhGpxYm6
https://dl.doubtnut.com/l/_y5mkytyzOTDc


23. Draw a rough sketch of the given curve

 and

find the area of the region bounded by them,

using integration.

Watch Video Solution

y = 1 + |x + 1|, x = − 3, x ≡ 3, y = 0

24. The area of the region bounded by the

,  and  Where 

 is

A. 

Y − axis y = cosx y = sinx

0 ≤ x ≤ ,
π

2

√2  sq units

https://dl.doubtnut.com/l/_W0ZXq8AZtH9s
https://dl.doubtnut.com/l/_kYVE3iXnT96N


B. 

C. 

D. 

Answer: C

Watch Video Solution

(√2 + 1)  sq units

(√2 − 1)  sq units

(2√2 − 1)  sq units

25. The area of the region bounded by the

curve  and the straight line 

 is

x2 = 4y

x = 4y − 2

https://dl.doubtnut.com/l/_kYVE3iXnT96N
https://dl.doubtnut.com/l/_H0ClCqGK7tTV


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sq units
3

8

 sq unit 
5

8

 sq unit
7
8

 sq units
9

8

26. The area of the region bounded by the

curve  and X-axis isy√16 − x2

https://dl.doubtnut.com/l/_H0ClCqGK7tTV
https://dl.doubtnut.com/l/_MvnhQjuaNidf


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

8π  sq units

20π  sq units

16π  sq units

256π  sq units

27. Area of the region in the first quadrant

exclosed by the X-axis, the line y=x and the

circle  isx2 + y2 = 32

https://dl.doubtnut.com/l/_MvnhQjuaNidf
https://dl.doubtnut.com/l/_n9mrfOxUHaEU


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

16π  sq units

4π  sq units

32π  sq units

24π  sq units

28. Area of the region bounded by the curve

 between  and  isy = cosx x = 0 x = π

https://dl.doubtnut.com/l/_n9mrfOxUHaEU
https://dl.doubtnut.com/l/_bN7Ncy8NWowB


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2  sq units

4  sq units

3  sq units

1  sq unit

29. The area of the region bounded by

parabola  and the straight line 

is

y2 = x 2y = x

https://dl.doubtnut.com/l/_bN7Ncy8NWowB
https://dl.doubtnut.com/l/_1Qjd755KQDTh


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sq units
4
3

1  sq unit 

 sq unit
2

3

 sq units
1

3

30. The area of the region bounded by the

curve  between the ordinates , 

 and the  is

y = sinx x = 0

x =
π

2
X − axis

https://dl.doubtnut.com/l/_1Qjd755KQDTh
https://dl.doubtnut.com/l/_4nh2eNQwPmq3


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2  sq units

4  sq units

3  sq units

1  sq unit

31. The area of the region bounded by the

ellipse  is+ = 1
x2

25

y2

16

https://dl.doubtnut.com/l/_4nh2eNQwPmq3
https://dl.doubtnut.com/l/_JOVAWHlrDGnU


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

20π  sq units

20π2  sq units

16π2  sq units

25π  sq units

32. The area of the region by the circle

 isx2 + y2 = 1

https://dl.doubtnut.com/l/_JOVAWHlrDGnU
https://dl.doubtnut.com/l/_7QnA0FpAYrbb


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2π  sq units

π  sq units

3π2  sq units

4π  sq units

33. The area of the region bounded by the

curve  and the lines 

is

y = x + 1 x = 2, x = 3,

https://dl.doubtnut.com/l/_7QnA0FpAYrbb
https://dl.doubtnut.com/l/_gP1LyoCIwfUq


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sq units
7
2

 sq unit 
9

2

 sq unit
11

2

 sq units
13

2

34. The area of the region bounded by the

curve  and the lines 

 is

x = 2y + 3

y = 1, y = − 1

https://dl.doubtnut.com/l/_gP1LyoCIwfUq
https://dl.doubtnut.com/l/_iuDiVteZ3vK6


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4  sq units

 sq units
3

2

6  sq units

8  sq unit

35. Find the area of the region bounded by the

curve .y2 = 9x  and y = 3x

https://dl.doubtnut.com/l/_iuDiVteZ3vK6
https://dl.doubtnut.com/l/_R2a4nyWQd0YF


Watch Video Solution

36. Find the area of the region bounded by the

parabole .

Watch Video Solution

y2 = 2p ×2 = 2py

37. Find the area of the region bounded by the

curve 

Watch Video Solution

y = x3, y = x + 6  and x = 0

https://dl.doubtnut.com/l/_R2a4nyWQd0YF
https://dl.doubtnut.com/l/_bmMh5qIs4r4v
https://dl.doubtnut.com/l/_O3G7b8O0MsJ3


38. Find the area of the region bounded by the

curve .

Watch Video Solution

y2 = 4x  and x2 = 4y

39. Find the area of the region included

between .

Watch Video Solution

y2 = 9x  and y = x

https://dl.doubtnut.com/l/_v4g7D2IVMd8s
https://dl.doubtnut.com/l/_hrYehYz7yLXv


40. Find the area of the region enclosed by the

parabola  and the line y = x+ 2.

Watch Video Solution

x2 = y

41. Find the area of the region bounded by line

x = 2 and parabola .

Watch Video Solution

y2 = 8x

https://dl.doubtnut.com/l/_gpFh1FFWj72e
https://dl.doubtnut.com/l/_okpQsMQUsyLG


42. Sketch the region 

and X-axis. Find the area of the region using

integration.

Watch Video Solution

{(x, 0) : y = √4 − x2}

43. Calculate the area under the curve

 included between the lines x = 0 and

x = 1.

Watch Video Solution

y = 2√x

https://dl.doubtnut.com/l/_mKXodO62NRq2
https://dl.doubtnut.com/l/_MGTUysHuy6Pw
https://dl.doubtnut.com/l/_YS1B0r2sAAF6


44. Using integration, find the area of the

region bounded by the line

 and the line x = 2 and x

= 8.

Watch Video Solution

2y = 5x + 7, X − aξs

45. Draw a rough sketch of the curve

 in the interval [1, 5]. Find the

area under the curve and between the lines x =

1 and x = 5.

Watch Video Solution

y = √x − 1)

https://dl.doubtnut.com/l/_YS1B0r2sAAF6
https://dl.doubtnut.com/l/_8nuNvjnjKAq0


46. Determine the area under the curve

 included between the lines x

=0 and x = a.

Watch Video Solution

y = √a2 − x2

47. Find the area if the region bounded by

.

Watch Video Solution

y = √x  and y = x

https://dl.doubtnut.com/l/_8nuNvjnjKAq0
https://dl.doubtnut.com/l/_fHHVgbJ6UmBY
https://dl.doubtnut.com/l/_tIkv38Rz24xk
https://dl.doubtnut.com/l/_wrb35qqe80e1


48. Find the area enclosed by the curve

 and the straight line 

.

Watch Video Solution

y = − x2

x + y + 2 = 0

49. Find the area bounded by the curve

 in the first quadrant and

X-axis.

Watch Video Solution

y = √x, x = 2y + 3

https://dl.doubtnut.com/l/_wrb35qqe80e1
https://dl.doubtnut.com/l/_kVhtReq8h1Qp
https://dl.doubtnut.com/l/_zC2FLxrpVPwD


50. Find the area of the region bounded by the

curve .

Watch Video Solution

y2 = 2x  and x2 + y2 = 4x

51. Find the area of region by the curve

.

Watch Video Solution

y = sinx  between x = 0  and x = 2π

52. Using integration find the area of region

bounded by the triangle whose vertices are

https://dl.doubtnut.com/l/_zC2FLxrpVPwD
https://dl.doubtnut.com/l/_t8Z3xLtp63Cd
https://dl.doubtnut.com/l/_g8PaZDNb6cHq


.

Watch Video Solution

(1, 0), (1, 3)and(3, 2)

53. Find the area of the region

using method of integration .

Watch Video Solution

{(x, y) : y2 ≤ 6ax and x2 + y2 ≤ 16a2}

54. Compute the area bounded by the lines

 and x + 2y = 2; y − x = 1 2x + y = 7

https://dl.doubtnut.com/l/_g8PaZDNb6cHq
https://dl.doubtnut.com/l/_Y0SjqhxxxxFi
https://dl.doubtnut.com/l/_T7Ffo2eWGPU9


Watch Video Solution

55. Find the area bounded by the lines

.

Watch Video Solution

y = 4x + 5, y = 5 − x  and 4y = x + 5

56. Find the area bounded by the curve

 and the X-axis from x = 0 to 

.

Watch Video Solution

y = 2 cos x

x = 2π

https://dl.doubtnut.com/l/_T7Ffo2eWGPU9
https://dl.doubtnut.com/l/_jX66CHx6pnfA
https://dl.doubtnut.com/l/_MXH7E2MVNoNe


57. Draw a rough sketch of the given curve

 and

find the area of the region bounded by them,

using integration.

Watch Video Solution

y = 1 + |x + 1|, x = − 3, x ≡ 3, y = 0

58. The area of the region bounded by the Y-

axisy=cos x and y=sin x Where  is

A. 

0 ≤ x ≤ ,
π

2

√2  sq units

https://dl.doubtnut.com/l/_MXH7E2MVNoNe
https://dl.doubtnut.com/l/_6kdz24DfZY0O
https://dl.doubtnut.com/l/_8cWAsVZxdv0A


B. 

C. 

D. 

Answer: C

Watch Video Solution

(√2 + 1)  sq units

(√2 − 1)  sq units

(2√2 − 1)  sq units

59. The area of the region bounded by the

curve  and the straight line 

 is

x2 = 4y

x = 4y − 2

https://dl.doubtnut.com/l/_8cWAsVZxdv0A
https://dl.doubtnut.com/l/_xje8eTcue5vZ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sq units
3

8

 sq unit 
5

8

 sq unit
7
8

 sq units
9

8

60. The area of the region bounded by the

curve  and -axis isy = √16 − x2 X

https://dl.doubtnut.com/l/_xje8eTcue5vZ
https://dl.doubtnut.com/l/_G96dyHlQNMde


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

8π  sq units

20π  sq units

16π  sq units

256π  sq units

61. Area of the region in the first quadrant

exclosed by the X-axis, the line y=x and the

circle  isx2 + y2 = 32

https://dl.doubtnut.com/l/_G96dyHlQNMde
https://dl.doubtnut.com/l/_X6tChlLSfUnp


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

16π  sq units

4π  sq units

32π  sq units

24π  sq units

62. Area of the regionbounded by the curve y

=cos xbetween x = 0 and  isx = π

https://dl.doubtnut.com/l/_X6tChlLSfUnp
https://dl.doubtnut.com/l/_ai3S0UChz6Jg


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2  sq units

4  sq units

3  sq units

1  sq unit

63. The area of the region bounded by

parabola  and the straight line 2y = x isy2 = x

https://dl.doubtnut.com/l/_ai3S0UChz6Jg
https://dl.doubtnut.com/l/_gtyXjcf0P26c


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sq units
4
3

1  sq unit 

 sq unit
2

3

 sq units
1

3

64. The area of the region bounded by the

curve y = sin x between the ordinates

 and the X-axis isx = 0, x =
π

2

https://dl.doubtnut.com/l/_gtyXjcf0P26c
https://dl.doubtnut.com/l/_Q1mNs0y4AY4z


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2  sq units

4  sq units

3  sq units

1  sq unit

65. The area of the region bounded by the

ellipse  is+ = 1
x2

25

y2

16

https://dl.doubtnut.com/l/_Q1mNs0y4AY4z
https://dl.doubtnut.com/l/_DetDHJGEHiwH


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

20π  sq units

20π2  sq units

16π2  sq units

25π  sq units

66. The area of the region by the circle

 isx2 + y2 = 1

https://dl.doubtnut.com/l/_DetDHJGEHiwH
https://dl.doubtnut.com/l/_Tk5PblgIiMYX


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2π  sq units

π2  sq units

3π2  sq units

4π  sq units

67. The area of the region bounded by the

curve y = x + 1 and the lines  isx = 2, x = 3,

https://dl.doubtnut.com/l/_Tk5PblgIiMYX
https://dl.doubtnut.com/l/_kRoVg8R5fp0x


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sq units
7
2

 sq unit 
9

2

 sq unit
11

2

 sq units
13

2

68. The area of the region bounded by the

curve  and the lines 

 is

x = 2y + 3

y = 1, y = − 1

https://dl.doubtnut.com/l/_kRoVg8R5fp0x
https://dl.doubtnut.com/l/_Wuq0xcloJj9E


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4  sq units

 sq units
3

2

6  sq units

8  sq unit

https://dl.doubtnut.com/l/_Wuq0xcloJj9E

